
553

PUM
P PARTS - IN

GROUN
D

SUPERMAX® VS VARIABLE SPEED PUMP
REPLACEMENT PARTS

Replacement parts pricing on page 635. Product on pages 198–199.

Item Part
No. Description

 SUPERMAX VS VARIABLE SPEED PUMP
1 353124 Drive Cover

2 353128 Drive/Cover Kit

3 353135S Motor

4 353133S Motor/Drive Assy

5 355612 Sealplate 

6 355619 Sealplate Gasket

7 355086 Impeller

8 355618 Diffuser

9 355030 Diffuser Seal

10 351094 Base

11 357161 Drain Plug

12 192115 O-Ring Drain Plug

13 351089 Volute

14 357255 O-Ring, Lid #2-357

15 355667 Basket

16 350091 Lid, See Through

Item Part
No. Description

17 351090 Clamp, Cam And Ramp

18 353110 Volute Assembly (Includes Items 
11-17)

19 072184 Washer 3/8 In. Ss, 8 Req.

20 355621 Screw 3/8-16 X 2 1/4 Hex Head, 
4 Req.

21 355334 Screw #8-32 Hex Washer Head, 
3 Req.

22 355389 Screw, Impeller Locking

23 354545 Seal Set

24 U30-74SS Hex Head Screw 3/8-16 SS, 4 Req.

25 270141 Nut, 2 Req.

26 350093 Adapter, 2 Req.

27 6020018 O-Ring Adapter #2-226, 2 Req.

28 351157 Superflo Union Kit (Contains 2X 
Items 26-28) 

353129Z Kit Dig Input 25' Superflo/
Supermax (Not shown)

17

16

15

14

13

26

10

11

12

98

22

75

24 20 1921

3

1

2

4

23

27 25

28

18

6


